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Verifying Geometric Properties

Recall the following formulas:

I) Length of a line segment: A \r('xa-x')’— +<'3 _3,' ).1
(Y 5y )

2) Midpoint of a line segment: m 'dP+ =Ck v ¥Xa , Et ,,-If-gu_a)
2 2

5) Slope of a Line:

m=24 _ Y42
Ar xa-X

To classify a triangle, determine the length of all three sides. Classify by:

l)Scalene-al\ sides dl#&cﬁrﬂ' ,69’%9%3
2):Bsoscehes-%*~o 5@&5 Same. lﬂﬂg""'\

3)=Equilateral‘s-a\’:\ Hhree Sfdzﬁﬁ same 'W%

To determine if a triangle is right-angled: 7 eﬁlégg Using +he ‘ng—:“\i‘
ina th ‘ #, Or — j ( ‘
Methad] Find the slope of of ull Hhrie sides,

eqch side of +he iriangle. ine ¢ the Magortan
V& the slvpes of asides are d,?h“i;r:m holds ‘fY'Lf:e . ‘
negative reciproarls then the D 1.7 toos o +bioc® 7
Recall: a quadrilateral is [ g ﬂ3h+ -andled. (Where a isthe ‘Dﬂrj&S"‘ Sidg)
éoclas

ify a quadrilateral, determine the length and slope of each side. Classify by:
N Ltz-?erm\ -4 s|d;i polqaan

1) Parallelogram - quad ri l0deral  with cy,aosHﬁ Sicles €4 ua [
(n length and having Seme  slepe

2) Rectangle -guadrilateral with cpposite sides egal in
leng¥h and having Same shpe, and odiacent sides are

3) Square ~quadirilateral With opposite Sides \pependicular
parallel, all sides same length and adjacent Sdes perpendicda

4y Rhombus — ) i —
)%Wmabm! with Dpposide sides paralle | (same slope)
and all 4 sides have Sime leagih.
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Eg. 1 A triangle has vertices A (-7,0), B (2,1), and C (-3,5). Classify the type of
triangle and verify that it is right-angled.
A B SE3 sy
| 8 e BC £ T T ! 1
| ={@*+0)7 = (65 ¢ Y S BB e i e L o
B s NG
M BB 5 =W b
R TS RT3 74 T o Y
SRR L s g € cAat “ge ‘A8 T S - .- ’,_Z;\.L&
=1 lora5 o l L ——TA | |
W25 then D ABeis isosceles. IR NN X
=\ Check the ppth. thm: N NEN
Ls=(acr+@e>  ks=@er L | [T
= b+ot =c” . LS=RS ,+hen a*+b?=c?
= (@Y +() A2 &0 dhr magle is
=4l +ul =82 = 82. nght-angled.
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Eg.2 Verify that the quadrilateral with vertices P (-1,4), Q (-2,1), R (4, -1), and
S (5,2) is a rectangle.

Mes= 2H  m =1 T .
5-—‘* a3+l ‘ !
=-3:3 | &.
- - o g
= 2-Y4 m _=-1-| === -
m i 38 | /1 Lo
- e T/ S
_ 8 L\ 1
_— he same. ’*
" tpposide sides have 8

: ‘des
sloe and acbacarl— 8]
szv:is that ore ngatve ¥
then P4KS is a rectangle
wrole: 14 llws Hom abpwe
aidze weuld hawe 4o also
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he <he Same (eng%.



